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Problems in Statically determinate rigid frames

Draw (A.F.) .(S.F.) &( B.M.) diagrams for the following problems:
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Answer: H1=1t ,V1=7t, H2=1t,V2=5t 2
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Answer: H1=5.4t(to the right) ,V1=10.8t(up) , H2=5.4t,V2=7.2.




(3)

Answer: H1=6t(to the left) ,V1=-3t(up), H2=6t(to the left),V2=3t(up)
N1=-6t(tension),F1=3t ,N2=6t (compression),F2=3t

Note ..ooovvvvvererenne N2=V2cosB+H2sin 6 , F2=H2cosB-V2 sin B

H2

3m 3m

N1 vi v2 ©6 N2




10t

(4)

12m

Hint: Separate the structure into two segments at the hinge H. After finding V4
and Hy , resolve into Ny and Fy .

Ny =axial force in the inclined member. F, =shearing force in the inclined member.
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